xEFHE L, f(x)=8x" —6x—1 CTEHT .

(1) f(x)=02-1<x <1 OFPHICER D3 SOEHME RS2 L 2R,
(2) f(x)=0,g(x)= 0D HFEADME x=cosf (0<O< ) LB L&, ODEEZNTH
kb X,

(3) f(x)=00ffeznziabclB L&, lim z(ak+bk+c")%ﬂwp;o

n—>0 k=1
()

(1) flx)=8x>—6x-1:F2L. f'(x)=24x" —6=6(2x+1)2x~1)

f'lx)=0mrx x:i%ck D IR AR D &

x =1 e == 1

1
>
ffx) + + 0 - 0 + +
fx) =3t 1 1 -3 T 1
Y0, y=f(x)iE-1<x <1 OFPAICHENT, xR 2 300 EE2H DT
F(x)=023—1< x <1 OHFPHI IR D 3 >O TSR EF o,

(2) x=cosf L#< L, f(cosd)=8cos® @—6cosd—1=0

c0s36 =4cos> @ —3cosh LV cos36’:%

0<0<7m<=0<30<37 kY

cos3ﬁzl®&%30:£,§ﬂ,zﬂi0\ 6’21,272',172'
2 33 3 99 9
(3) (2) kv @=0,7rkv, x=cos@(0<O<rm)bB L, —l<a<l-l<b<l-l<c<l
n
J:DlimZ(ak+bk+ck): a b ¢
n—017 l-a 1-b 1-c

fit LARELE ORR LY | a+b+c:0,ab+bc+ca:—%,abc:%

a b ¢ al-b)1-c)+b(l-c)l—a)+c(l-a)1-b)
+ + =
l-a 1-b l-c (1—a)1-b)1-c)
B a+b+c—2(ab+bc+ ca)+3abe
- 1—(a+b+c)+(ab+bc+ ca)—abc







